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1.	A	garden	has	rows	of	�owers	planted.	Each	row	is	6	feet	long.	If
there	are	8	rows,	what	is	the	total	length	of	all	rows	combined?

2.	Each	packet	of	seeds	can	cover	5	square	feet	of	a	garden.	If	a
gardener	uses	30	packets,	what	is	the	total	area	covered	in	the
garden?

3.	If	each	bottle	of	water	contains	2	liters,	how	many	liters	are	there	in
total	in	a	box	containing	25	bottles?

4.	A	recipe	calls	for	3	cups	of	�our	for	each	loaf	of	bread.	If	a	baker
wants	to	make	15	loaves,	how	many	cups	of	�our	will	he	need?

5.	A	classroom	is	8	meters	long.	If	the	classroom	is	double	this	length,
how	long	would	it	be?
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